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SMJK CHUNG HWA, KOTA BHARU

Chapter 23 (5) Alternating Current In Pure Capacitor

1. A sinusoidal voltage of 240 Vrms with frequency 50 Hz is connected to a capacitor of capacitance 10 (F. Determine,

a) The capacitive reactance of the capacitor.

b) The rms current flowing in the circuit.

Ans :  a) 318 (         b) 0.755 A

2. A capacitor of 15 (F is connected to a sinusoidal voltage of 200 Vrms and frequency 50 Hz. Determine,
a) The maximum voltage that can be applied across the capacitor,

b) The capacitive reactance of the capacitor,

c) The rms current flowing in the circuit.

Ans :  a) 283 V        b) 212 (        c) 0.943 A

3. A voltage V represented by the equation:
V = (15 V)sin(377t)

is applied across a pure capacitor of capacitance 250 (F. Determine,

a) The rms voltage,

b) The frequency of the voltage,

c) The capacitive reactance of the capacitor,

d) The rms current flowing through the capacitor,

e) The equation representing the current,

f) The maximum instantaneous power that could possibly be delivered to the capacitor.

Ans :  a) 10.6 V        b) 60 Hz        c) 10.6 (        d) 1 A         e) I = 
[image: image2.emf]cos(377t)        f) 10.6 W
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